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Question Number : 2 Question Id : 9593767202 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

If two commodities are perfect substitutes, the shape of the indifference curve:
Options :

. « Will be a straight line

> % Wwillaright angle

will slope downwards
will slope upwards

will be a parabola

Question Number : 2 Question Id : 9593767202 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options :

| v HIeT @ gl

5 % HHSIOT EE0
3_'&#‘?%3#?9301'317'”
4 % FOX @ HR gFOT g
c % o grem

Question Number : 3 Question Id : 9593767203 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
If the shape of demand curve is rectangular hyperbola. the price elasticity is equal to:

Options :
1.« one

> % less than one
3 ® Zero

4 % greater than one
5 # lessthan zero

Question Number : 3 Question Id : 9593767203 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical



Correct: 2 Wrong: 1
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Question Number : 4 Question Id : 9593767204 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consumer’s surplus is the difference between:
Options :

, « the price that the consumer is willing to pay and what he actually pays

» % the income and expenditure

3 % total revenue and total cost

supply and demand

total revenue and profits

Question Number : 4 Question Id : 9593767204 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options :
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Question Number : 5 Question Id : 9593767205 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

Cobweb model is applied to explain the theory of:
Options :

, % Pproduction

5 % consumption



- % employment
4 % distribution

c  demand. supply and price over long run

Question Number : 5 Question Id : 9593767205 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 6 Question Id : 9593767206 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Under the principle of equi-marginal utility. the equilibrium is the point where:

Options :
MUx MUy
1« Px B Py
MUx MUy
>
2.8 Px Py
MUx MUy
3 Px Py
MUx MUy
<
4 % Px Py
MUx MUy

.l_
5 ® Px Py

Question Number : 6 Question Id : 9593767206 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
THEAE FTAREr & fFaa & daeia, FFgaEr aF fog S grar
gl

Options :
MUx — MUy
1. ¥ Px Py
MUx MUy
r
o ® Px Py
MUx MUy

3 - 4 Px Py



4 * Px Py
MUx + MUy
c ® Px Py

Question Number : 7 Question Id : 9593767207 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

If two factors are complementary to each other, then the shape of the isoquant will be:
Options :

, w Vvertical straight line

-~  right angled shape

% concave to the origin
% convex to the origin

= % horizontal straight line

Question Number : 7 Question Id : 9593767207 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 8 Question Id : 9593767208 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

If the income effect is positive for both the goods X and Y. then the income consumption curve will slope:
Options :

i « upward to the right

> % backward to the left

5 % Pparallel to OX axis

4 % downward to the right

c % parallel to OY axis

Question Number : 8 Question Id : 9593767208 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 9 Question Id : 9593767209 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

Revealed preference theory was developed by:
Options :

1 « Prof. P. A. Samuelson

> % James Tobin

3 % Hicks-Allen

4 % J.R. Hicks

Dupitt

Question Number : 9 Question Id : 9593767209 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 10 Question Id : 9593767210 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In Cobb-Douglas production function the elasticity of factor substitution is equal to:

Options :
1 ¢ One

o ® wo

% four

w

4 % three https://www.freshersnow.com/previous-year-question-papers/



5 % Zero

Question Number : 10 Question Id : 9593767210 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
FIE-ZITTH 3UCHT Fold H FEF IOEUTH T TITEYTT &1 A
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Question Number : 11 Question Id : 9593767211 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The only possible equilibrium positions in an Edgeworth production box is where:
Options :

| % 1soquants intersect each other

» 1soquants are tangent to each other

N

% 1soquants intersect outside to ridge line

w

% 1soquants are parallel to each other

% 1soquants intersect on the ridge lines

e

Question Number : 11 Question Id : 9593767211 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 12 Question Id : 9593767212 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The ridge lines are the locus of points of isoquants where marginal product of one of the factor is:

Options : https://www.freshersnow.com/previous-year-question-papers/



1 & Zero
> % less than one

equal to one

4 % more than one

negative

Question Number : 12 Question Id : 9593767212 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 13 Question Id : 9593767213 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Increasing returns to scale is due to:
Options :

1 « existence of external economies

> % existence of external dis-economies
- % Over expectations of the market conditions

increase in the demand for the product

s % inflation

Question Number : 13 Question Id : 9593767213 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Fgarer sfesfawer (ehiferT eed ¢ o) fras Fror g 872

Options :

| v TTET TTHERT Rufaar & dPacs F FRoT
o % FET Aot TRUfadr & #fEdea & FRoT
5 » g RufEEr Fr dfE 3TeTHT F FRoT
x 309G F ART 7 T @S F FRoT

https://www.freshersnow.com/previous-year-question-papers/



Question Number : 14 Question Id : 9593767214 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who assumed the 'weak ordering' as a principle to explain the behavior of an ideal consumer?

Options :
1 % Adam Smith

> % Alfred Marshall
3 % Samuelson
4 « J.R.Hicks

% Arrow

o

Question Number : 14 Question Id : 9593767214 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 15 Question Id : 9593767215 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
For the firms and industry to be in equilibrium in the long-run, it is essential that. in the long run the
normal price should be equal to the:

Options :
1 % total cost

- % marginal cost

3 % average cost

selling costs

R

o~

» marginal and average cost

Question Number : 15 Question Id : 9593767215 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 16 Question Id : 9593767216 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Under dumping. the foreign market demand curve faced by the monopolist is:
Options :

1 % vertical line

> « horizontal line

- % Increasing upward curve

4 » downward sloping curve

5 & concave curve

Question Number : 16 Question Id : 9593767216 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options :
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Question Number : 17 Question Id : 9593767217 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Who developed the theory of long-run group equilibrium by means of two demand curves?
Options :

1 % Don Patinkin

~> % Hicks

« Chamberlin

w
4

4 % Baumol
Pigou
https://www.freshersnow.com/previous-year-question-papers/



Question Number : 17 Question Id : 9593767217 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 18 Question Id : 9593767218 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

The concept of excess capacity is associated with:

Options :

1 ® perfect competition

» % monopoly

duopoly

4 monopolistic competition

monopsony

U
¥

Question Number : 18 Question Id : 9593767218 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options :
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Question Number : 19 Question Id : 9593767219 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who presented the kinked demand curve analysis in non-collusive model to explain price rigidities often
observed in oligopolistic markets?

Options :
1 # Prof. Chamberlin



» Prof. Sweezy

o

3z % Prof. Allen
4 &% Prof. Hicks

c % Prof. Joseph Bertrand

Question Number : 19 Question Id : 9593767219 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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fore Ir-gufFafaqur Atse (non-collusive model) # AfAT ART a5 Freawor
fFae gvqa fomam o

Options :

| % ST, IFEier

> 9T TS
3_89:1'.@3
4.“91'-%?"7

. » O, SAF WS

Question Number : 20 Question Id : 9593767220 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In which market situation. the firms in a particular industry decide to join together as a single unit for the
purpose of maximizing their joint profits and to share the market?

Options :
, w Perfect competition

> % Monopoly

» Oligopoly

Monopolistic competition

Duopoly

Question Number : 20 Question Id : 9593767220 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 21 Question Id : 9593767221 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Who first introduced implicitly the marginal principle in distribution?
Options :

1 % Alfred Marshall

» % Pigou

3 % Adam Smith
4 % Hicks
5 « David Ricardo

Question Number : 21 Question Id : 9593767221 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options :

1“Uﬁ%mﬁﬂ'
 « Reis

s % USH By
s_Jgﬁ?ﬂTﬂﬁ

Question Number : 22 Question Id : 9593767222 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Quasi-rent is the:
Options :

1 ® surplus income over total cost

-~ % surplus earnings from high fertility land

% surplus earnings due to rise in demand
» income derived from machines and other appliances made by man in the short-run

% income derived from scarce factors during long run

Question Number : 22 Question Id : 9593767222 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 23 Question Id : 9593767223 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

According to neo-classical economists. the rate of interest is determined by:
Options :

1 ® total capital stock

> % total investment

3 o the demand for and supply of loanable funds

4 % Dy the supply of savings and demand for investment

s % by the central bank

Question Number : 23 Question Id : 9593767223 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 24 Question Id : 9593767224 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

The liquidity trap is that portion of the liquidity preference curve where the people will:
Options :

; « hold money with them inactively as the rate of interest is very low

5 % invest their entire money as the rate of interest is high

- % invest their entire money as the rate of interest is low



4 % Kkeep the money for transaction purposes

= % Kkeep the money as precaution

Question Number : 24 Question Id : 9593767224 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 25 Question Id : 9593767225 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

In the modern theory of interest. interest rate is determined by:
Options :

1 ® demand for savings and investment

> « IS and LM curves

3 % demand for and supply of loanable funds

4 % marginal efficiency of capital

s % demand for investment

Question Number : 25 Question Id : 9593767225 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 26 Question Id : 9593767226 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1



The economist who viewed profits as a dynamic surplus is:

Options :
1 « J.B.Clark

« G.I. Stigler

o

% Stonier and Hague

W

, % F.H. Knight

% Joseph Schumpeter

n

Question Number : 26 Question Id : 9593767226 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 27 Question Id : 9593767227 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

According to F. B. Hawley. the profits are due to:
Options :

1 % introduction of innovation

»  Uisk taking nature of the entrepreneur
- % dynamic changes in the economy

monetary policies of the government

e
©

expectations of uncertainty

Question Number : 27 Question Id : 9593767227 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 28 Question Id : 9593767228 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

According to the classical economists, wages are equal to:
Options :

1 « subsistence level

> % minimum level

equal to the marginal productivity of labour

3w
4 w fair wages
c % equal to the marginal cost

Question Number : 28 Question Id : 9593767228 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 29 Question Id : 9593767229 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
When factors of production are paid according to their marginal products, the total product would be
exactly exhausted according to the:

Options :
, ®» Cobb-Douglas production function

> « Euler’s theorem
% Law of variable proportions
4 % Law of returns to scale

s % Cob-web model

Question Number : 29 Question Id : 9593767229 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 30 Question Id : 9593767230 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Personal income includes all of the following except:
Options :

, % personal savings

- % personal income taxes

% dividend payments
» undistributed corporate profits

% transfer payments

Question Number : 30 Question Id : 9593767230 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 31 Question Id : 9593767231 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

The difference between Gross National Product (GNP) and Gross Domestic Product (GDP) is:
Options :

1 % excess of subsidies over indirect taxes

% depreciation

P

% personal disposable income

4 % excess of indirect taxes over subsidies

» net foreign income from abroad



Question Number : 31 Question Id : 9593767231 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
Correct: 2 Wrong: 1
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Question Number : 32 Question Id : 9593767232 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

In the general equilibrium analysis. Don Patinkin has introduced the concept of:
Options :

, % money illusion

> « real balance effect

- % liquidity preference
4 % ratchet effect

= % fransaction velocity of money

Question Number : 32 Question Id : 9593767232 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 33 Question Id : 9593767233 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
'Employment Multiplier' was introduced by:

Options :



1 « R.F.Khan
J. M. Keynes
3 % J. R. Hicks
A. C. Pigou

s % N.Kaldor

Question Number : 33 Question Id : 9593767233 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options :
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Question Number : 34 Question Id : 9593767234 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

In an inflationary period. the appropriate policy for the RBI would be to:
Options :

1 % reduce cash reserve ratio

> % reduce bank rate

3 % extend credit to government
4  Sell government securities

= % encourage commercial banks to increase their loans

Question Number : 34 Question Id : 9593767234 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 35 Question Id : 9593767235 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Transaction demand for money:

Options :

1 ® varies inversely with income and rate of interest

-~ w Vvaries directly with income and rate of interest
» Varies directly with income and inversely with rate of interest
varies inversely with income and directly with the rate of interest

% does not depend on income and rate of interest

Question Number : 35 Question Id : 9593767235 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 36 Question Id : 9593767236 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

An increase in government expenditure will:
Options :

. % shift both IS and LM curves to the right

> % shift both IS and LM curves to left
- Dot affect the position of LM curve but will shift the IS curve to the right

» not affect the position of LM curve but will shift IS curve to the left

= % not affect the position of IS curve but will shift LM curve to the right

Question Number : 36 Question Id : 9593767236 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 37 Question Id : 9593767237 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

The real stock of money in the economy increases due to:
Options :

1 % increase in interest rates

> % decrease in interest rates

- % Increase in prices

4  decrease in prices

5 % rise in the velocity of money

Question Number : 37 Question Id : 9593767237 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong : 1
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Question Number : 38 Question Id : 9593767238 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Keynesian concept of multiplier expresses the effect of:
Options :

1 ® investment on consumption

~ % propensity to consume on savings



- % Income on consumption

4 « investment on income

c % investment on prices

Question Number : 38 Question Id : 9593767238 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 39 Question Id : 9593767239 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

In Hicks theory of trade cycle. the downswing starts when:
Options :

1 ® the business expectations collapse

~ % the multiplier hits the ceiling capacity
3 % there are financial bottlenecks
4 % the marginal efficiency of capital declines

» the lagged effects of induced investments are exhausted

Question Number : 39 Question Id : 9593767239 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 40 Question Id : 9593767240 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1



If RBI wants to ‘Sterlize’ an inflow of foreign exchange. it should:
Options :
1 % lower the bank rate

> % lower the CRR

5  sell government securities in the open market
4 % increase the rate of interest

buy government securities in the open market

Question Number : 40 Question Id : 9593767240 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong : 1
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Question Number : 41 Question Id : 9593767241 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Which of the following is the assumption of Adam Smith theory of International Trade?
Options :

, w Perfect mobility of factors between the countries

-~  Perfect immobility of factors within the countries

% Near full employment of factors
» Labour theory of value

% Equal productivity of labour between countries

Question Number : 41 Question Id : 9593767241 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 42 Question Id : 9593767242 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who introduced the concept of reciprocal demand?

Options :
1 % Adam Smith

» % David Ricardo

3 « J. S.Mill

% Gottfried Haberler
% Bertile Ohlin

-~

i

Question Number : 42 Question Id : 9593767242 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 43 Question Id : 9593767243 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

91

Correct: 2 Wrong: 1

Identify the Intra-industry model of International Trade.
Options :

, % The theory of absolute advantage

5 % The theory of comparative advantage
Heckscher-Ohlin theory
Opportunity cost theory

» Neo-Heckscher Ohlin theory

Question Number : 43 Question Id : 9593767243 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 44 Question Id : 9593767244 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

The Mint Parity theory of exchange implies a system of:
Options :

1 ¥ fixed exchange rates
- w flexible exchange rates
floating exchange rates
managed flexibility

crawling peg

Question Number : 44 Question Id : 9593767244 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 45 Question Id : 9593767245 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Tariff will always improve the terms of trade of the tariff imposing country except when the elasticity of
the foreign offer curve is:

Options :

1 % Zero

o perfectly elastic

M

» relatively elastic

w



4 = relatively inelastic

c % unity

Question Number : 45 Question Id : 9593767245 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 46 Question Id : 9593767246 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Which of the following is the capital account item of the balance of payments?
Options :

, % Shipping services rendered by foreign vessels
- % Dividends received on investments in foreign countries
Banking and insurances services rendered by foreign institutions
4 « Sale of securities to foreign countries

Indemnities received from foreign governments

Question Number : 46 Question Id : 9593767246 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 47 Question Id : 9593767247 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

The concept of terms of trade used in offer curve technique is:
Options :

, w Single Factoral Terms of Trade

> % Double Factoral Terms of Trade
3 « Gross Barter Terms of Trade

4 % Net Barter Terms of Trade

s % Income Terms of Trade

Question Number : 47 Question Id : 9593767247 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 48 Question Id : 9593767248 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Dualistic economy means the co-existence of:

Options :

1 « amodern industrial sector with the traditional sector
> % rural and urban sectors

5 % organized and un-organized sectors

4 % internal and external markets
5 #% industrial and service sectors

Question Number : 48 Question Id : 9593767248 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 49 Question Id : 9593767249 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The statement “Economic growth means more output and Economic development means both more output
and changes in technical and institutional arrangements by which it is produced™ is given by:

Options :
1 % Mrs. U. Hicks

> % 1A Schumpeter
3 % A.Madison

» C. P.Kindleberger
s % J. K. Meheta

Question Number : 49 Question Id : 9593767249 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 50 Question Id : 9593767250 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Disguised un-employment exists when:
Options :
, % the total available labour is more than the employed labour
-~ w available labour is more than the required labour

- % required labour is more than the employed labour

» employed labour is more than required labour

1LY

» employed labour is more than seasonal labour

i

Question Number : 50 Question Id : 9593767250 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct: 2 Wrong: 1
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Question Number : 51 Question Id : 9593767251 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The concept of Physical Quality of Life Index (PQLI) was developed by:

Options :
1 % J.K.Mehta

> % K. K. Kurihara
- % Ragnar Nurkse
4 « Morris

5 ® W.A Lewis

Question Number : 51 Question Id : 9593767251 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 52 Question Id : 9593767252 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Who assigned a pivotal role to division of labour in the process of economic development?
Options :

1 % Thomas Malthus

> « Adam Smith

3 % David Ricardo



